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_ 4H 5H 6 H 7H 8H 9H 10H 11H 12H 1A 24 34
S #lE A
R7.4.10 R7.5.15 R7.6.4 R7.7.2 R7.8.7
(B4 A%l
PH (ki) 5.8~8. 6 5.8~8.6 | 6.6(21°C) | 6.6(22°C) | 6.7(18°C) | 7.2(20°C) | 6.7(20°C)
BOD mg/0 20 10 0.6 0.5 0.5 0.9 0.7
COD mg/0 % 30 E 20 6.9 3.1 4.3 6.8 2.0
TR ms/0 | 3 20 p 5 <1.0 <1.0 <1.0 <1.0 <1.0
S me/0 | 5 # 5 <0.5 <0.5 <0.5 <0.5 <0.5
AR wio | " 05 | B[ os €0.05 €0.05 €0.05 €0.05 €0.05
k0l mg/0 1 fiE 1 <0.1 <0.1 <0.1 <0.1 <0.1
M me/0 2 2 0.5 0.9 0.6 0.1 0.4
TRk mg/0 10 10 <0.1 <0.1 <0.1 <0.1 <0.1
Bt~ A meg/0 10 10 0.4 0.8 0.4 <0.1 0.4
EV4=0N mg/0 2 2 <0.04 <0.04 <0.04 <0.04 <0.04
2EEH mg/0 15 10 1.2 <0.6 0.8 1.2 <0.6
20 mg/0 1 1 <0.06 <0.06 <0.06 <0.06 <0.06
KIGH#E CFU/mL 800 800 <1 <1 <1 <1 <1
HRIT L mg/0 0.03 0. 03 <0.003 <0.003 <0.003 <0.003 <0.003
T mg/0 1 1 <0.1 <0.1 <0.1 <0.1 <0.1
HHg A mg/0 1 1 <0.1 <0.1 <0.1 <0.1 <0.1
h mg/0 0.1 0.1 <0.01 <0.01 <0.01 <0.01 <0.01
Vax(iZ4=0N meg/0 0.2 0.2 <0.01 <0.01 <0.01 <0.01 <0.01
(055 mg/0 0.1 0.1 <0.01 <0.01 <0.01 <0.01 <0.01
Jak R mg/0 0. 005 0. 005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
TILX NV KER mg/0 BHEhienze BHEhienze A A A A N
R 7 ==L mg/0 0. 003 0. 003 <0.0005
[DA=I=E 22 me/0 0.3 0.3 <0.002
FhFranTIL me/0 0.1 0.1 <0.001
DZ4=i=r Y 4 mg/0 0.2 0.2 <0.02
POEAb bR SR me/0 0. 02 0. 02 <0.002
1. 2—Yrunxiy mg/0 0. 04 0. 04 <0.004
1. 1—YrraxFry mg/0 1 1 <0.02
VA1, 2—YranxFLy mg/0 0.4 0.4 <0.04
1. 1. 1—=N)rrr=f mg/0 3 3 <0.001
1. 1. 2—N)rrnxgy mg/0 0. 06 0. 06 <0.006
1. 3—yrmnr Ly mg/0 0. 02 0. 02 <0.002
F T L mg/0 0. 06 0. 06 <0.006
D% mg/0 0. 03 0. 03 <0.003
FARUANT mg/0 0.2 0.2 <0.02
~oPy me/0 0.1 0.1 <0.01
L mg/0 0.1 0.1 <0.01
ESES me/0 10 10 <0.1
BN mg/0 8 8 0.1
TR HER mg/0 %100 - <0.7 <0.7 <0.7 <0.7 0.7
TR EIe VR4 8 e O ERTEZE % | me/0 0.4 <0.4 <0.4 0.5 <0.4
1. 4—UFFH mg/0 0.5 0.5 <0.05
s ;?J ;?J 5 2 <1 2 <1
w4 mg/0 | 4t 4k 240 270 250 240 200
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